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Aa—A Ba—X& Ca—XA
© ab—8b O 3ax+2ay @ 15a%—25a
= axXb—8x%p = aX3x+aX2y = 5aX3ab—5aX5
= b(a—8) — a(3x+2y) = 5a(3ab—5)
@  9xtay @ x2+5x © 12x%+16xy?
= 9Xxt+xXy = xXx+txX5 = dxyX3x+4xyX4y
— x(9+y) = x(x+5) = 4xy(3x+4y)
® 2y*+5y @ m:—mn @ 2abc—10ab*
= 2yXy+5Xy =mXm—mXn = 2abXc—2abX<5b
= y(2y+5) = mm—n) = 2ab(c—5b)
@  Bab+5bc @ 3ay—9a @ 6a%b—8a2b?
= HbXa+5bXc = 3aXy—3aX3 = 2a*b X 3a—2a’h X 4b
= 5b(ato) = 3a(y—3) = 2a*b(3a—4b)
®  8xy+t2xz ® 2¢°+4a ® 10ax+25bx°
= 2xX4y+2x Xz = 9aXa?+2axX2 = bxX2a+5xXbbx
= 2x(4y+2) = 2a(a*+2) = 5x(2a+5bx)
©® 16xy—10y? ©® 3x%y—15xy? © 24x%°—>54xyz
= 2y X 8x—2yXby = 3xyXx—3xy X5y = 6xyX4xy —6xyX9z
= 2y(8x—5y) = 3xy(x—5y) = 6xy(dxy —92)
@  axy+2bxy @ 18x2y—42xyz @ 4ax—8bx+6¢cx
= xyXa+txyX2b = 6xyX3x—6xyX Tz = 2xX2a—4xX2b+2xX 3¢
= xy(a+2b) = 6xy(38x—72) = 2x(2a—4b+3¢)
10ax—15ay 4bc—9bc? 3px—6px+15p
= 5aX2x—5a X3y = bcX4—9X? = 3pXx—3pX2x+3pX5
— 5a(2x—3y) = bc(4—9¢) = 3plx—2x+5)
©® axtay—az © 9ax+6bx—12cx @ x3—x2—y
= aXxtaXy—aXz = 3xX3a+3xX2b—3xX4c = xXx2—xXx—xX1
= alxty—2) = 3x(3a+2b—4c) = x(?—x—1)
2ac+4bc+8¢ 76°—14a’+ 14a 12a’b+6a°b*+ 9ab*
= 2cXa+2cX2b+2cX4c = TaXa*—TaX2a+TaXx2 = BabX4a+3abX2ab-+3ab*<3b
= 2c(a+2b+4¢) = Tald"—2a+2) = 3ab(4a+2ab+3b)
@  3a?m+15am—21m @ B5x%y—15xy2+20xy @ 8axy+6bxy+10cxy
= 3mXa*+3mXba—3mX17 = BxyXx—bxyX3y +5xyx4 = xyX3a+txyX6b+xyxX10c¢
= 3m(a2+5a—"17) = bxy(x—3y+4) = xy(8a+6b+10c)
@  24a%—3abc—16ab* @ Pyt 12472+ xy? @ 14a®bc+21abc*—Tab®

abX24a—abX3c—abXx16b

ab>x(24a—3c—16b)

Xy X x2+xy X 12xy+ xy X y2
xy(e2+12xy+32)

TabX2ac+TabX3c*—Tabxb

Tab(2ac+3c*—b)



